
Write how many pints there are in each litre: 

Remember, 1 litre is about 2 pints. 

Example: 2 litres = 4 pints. 

6.5 litres = 13 pints. 

1. 4 litres = _____ pints   5.  5 litres = _____ pints 

2. 3 litres = _____ pints   6.  10 litres = _____ pints 

3. 7 litres = _____ pints   7.  8.5 litres = _____ pints 

4. 5.5 pints = _____ pints  8.  11.5 litres = _____ pints 

Write how many litres: 

Remember, 2 pints is about 1 litre.  This means that 1 pint is 

about half a litre (500ml)! 

Example: 10 pints = 5 litres. 

3 pints = 1.5 litres. 

1. 2 pints = _____ litres   5.  5 pints = _____ litres 

2. 4 pints = _____ litres   6.  7 pints = _____ litres 

3. 6 pints = _____ litres   7.  11 pints = _____ litres 

4. 8 pints = _____ litres   8.  9 pints =  _____ litres 


